v %;% Losning av kubikekvationer

namn: Datum: Poéng:
X =97 -9+ 81 =0 6x° + 61x% + 53x— 90 = 0
3 1.2 _ 3 2 _
¥ — 11x" —4dx+224=0 X+ 22x7 +159x+ 378 = 0
8x° — 47xX* +83x— 42 =0 6 +35x° — 13x—42=0
9% — 161x% + 784x— 576 = 0 X+ 18x% + 104x+ 192 = 0
3 2 _ 3 2 _
x +8 +17x+10=0 x +13x +26x—112=0
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aid RAIEE)

Losning av kubikekvationer

namn:

X =97 -9+ 81 =0
x=3,-3,9

X — 1% —4x+224 =0
x=17-4,8

8 — 47X +83x— 42 =0
7
_:2)3
8

x:

9 — 161x% + 784x— 576 = 0
8
R} 839
9

x:

48 +17x+10=0
x=-2,-1,-5

Datum: Poéng:

6x° + 612 +53x— 90 = 0

x:

5
=, -2,-9
6

X+ 22x% + 159x + 378 = 0
x=—6,-9,—7

6 +35x% — 13x—42=0
7
Z,-1,-6
6

x:

X+ 18x% + 104x+ 192 = 0
x=—4,-8,—6

X+ 137 +26x—112=0
x=-8,-7.2
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